1/0 do/dN

Ratio to CMS

=

1071

1073

1074

[l

7000 GeV pp

m CMS
--G-- Pythia 6.428 345
----- i+ Pythia 6.428 346
—A— Pythia 6.428 370
Pythia 6.428 default
—— Pythia 8.308 default

Nch (pT > 3)

Underlying Event
[~ T

SEn
[I—

Rivet 3.1.10, = 2.1M events

0.5

A
A
. BY-Sa
[7AN) & T
4 A ey &t
G——L Ak
P > Al 2. - .
A P " N>
/ A [ K ~ 1
TR @ I
O 1
a4 e
. 1

— 17
i R
0 i [ L —
T : R R
1 " B ! i ]
3 _ 4 : o _
E @\ : IZI : g : | —
: LA . R _
s ::\8 1o . CP -
Sl & \ n o _
A ﬂ |“ ;: \‘ ’l:il:.' E |
! ST
\ A\ /I “| - ’I [j ; ]
AEA ‘ 4 ‘J L .': lll
D\ - ) 1

mcplots.cern.ch [arXiv:1306.3436]

N




	Contents
	Page 1


